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4. Bx, y RERE, B (2+302)x+(-3+H2)y=13-6/2  Blx+y=_ -1 .

B (2+3[2 )x+ ( -3+4H[2)y=13-6\/2 (10 %)
= (2x-3y) + (3x+4y )2 =13-6/2
{2x-3y=13 {x=z
= =
3x+4y= -6 y=-3

LoX+y= -1

5. RaARBEH , b, cAEEY , TIMNESLREEH?(ZE)
(A)a-b (B) ab (C)b+c (D) bc (E) a+b (F) b+a (a*0)

B: wo . (159)

(A FEY - BEHAEEY
(B) It : 0x[ 2 =0
©) Bl [ 2 +(-~+[2 )=0
(D) Bl [ 2 x[ 2 =2
(B) Bl : 0+ 2 =0
(F) BEE-FEE (TA0) AREY

6. R 15 LEEEHA 14 B 4 A —ER 2 (15%)

BB (14 +4)Y=14+16+8\[ 14 =30+8\/ 14 ,
(15 +4[15 Y*=15+15+30=30+30

" 30°> (814 )
L (15 15 P> (14 +4)
BI\15 +~[15 >~[ 14 +4 , FBAA[15 -A[14 >4 -~[ 15,
W 4 LLEHEEA 15
7. Fa, b 2EE ,E|a-2(+2|b-3|=1,KRa+bME (159)

f#:Ha, b2EBE ,F|a-2|,|b-3 FEIEERY

{1-2)



Hla-2|+2|b-3|=1,%a-2|=1,|b-3|=0,
WMa-2=+1,b-3=0,Bla=381,b=3
Filla+b=65 4

CERfOO= | x+2 |+ | x-4 |, BIfO0MRNMER 6 (154)

BB f(X)=|x+2 |+ |x-4]
SIx+2 |+ [4-x[=](x+2)+(4-x)[|=6
~fx)M&R/MER 6
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